Name: ___________________________________________
Class: ___________
Date: ___________

Expressions & Equations Unit Test

Part I. Multiple Choice
____
1.
Simplify. [image: image1.png]X+x—-7+x+9




	a.
	3x + 2
	c.
	[image: image2.png]3x—2





	b.
	3x + 16
	d.
	[image: image3.png]3x—16






____
2.
Simplify the expression:  [image: image4.png]S—6w—4+ 7w




	a.
	[image: image5.png]13w+ 1




	c.
	[image: image6.png]W+ 9





	b.
	[image: image7.png]W+ 1




	d.
	[image: image8.png]13w+ 9






____
3.
Simplify the expression:  [image: image9.png]~4¢ + T(=T-¢c)




	a.
	-11c - 49
	c.
	3c

	b.
	-11c +49
	d.
	3c – 49


____
4.
Factor the expression:  [image: image10.png]2+ 16y




	a.
	[image: image11.png]2y(1+ &)




	c.
	[image: image12.png]2(1 + 16y)





	b.
	[image: image13.png]2+ (1+8y)




	d.
	[image: image14.png]2(1 + 8y)






____
5.
Which steps can be used to solve for the value of y?  

⅔(y + 57) = 178



a.    divide both sides by ⅔ then subtract 57 from both sides



b.    subtract 57 from both sides, then divide both sides by ⅔



c.    multiply both sides by ⅔ then subtract 57 from both sides 



d.   subtract ⅔ from both sides, then subtract 57 from both sides
____
6.
Matias had $0.90 in his pocket. His mother gave him q quarters. Which expression can be used to find the total amount in cents?

	a.
	25q + 90
	c.
	0.25q + 90

	b.
	25q + 0.90
	d.
	25q + 9


____
7.
Tony weighs T pounds. Tony’s father Jim weighs 4 pounds less than twice the weight of Tony. Write an expression to represent Jim’s weight.

	a.
	[image: image15.png]2T




	c.
	[image: image16.png]2T + 4





	b.
	[image: image17.png]27— 4




	d.
	[image: image18.png]





_____   8. Lupita practiced piano twice as long on Friday as on Thursday.  She practiced for the same number of minutes on Saturday as on Friday.  Which expression represents the total number of minutes she practiced all three days?  Let m = minutes she practiced on Thursday.  

	a. 5m
	b. 3m

	c. 2m +1
	d. 2m + 2


_____   9. Chris makes $22 per hour.  She gets a 15% raise.  How much more money will she earn after one 40-hour week than she would have before the raise?

	a. $88
	b. $330

	c. $132
	d. $1,012


_____   10. Gustavo is having a birthday party.  His mother said he can spend no more than $42 for party favors and decorations.  The decorations cost $21 and each favor costs $3.50.  Which of the following shows an inequality that represents the greatest number of party favors x he can buy?

	a. (21 + 3.5)x ≤ 42
	b. 21 + 3.5x ≤ 42

	c. 21x + 3.5 ≤ 42
	d. 42 + 21 ≥ 3.5x


_____   11. The sales tax on an item is 6.5%.  The total cost of the item is the price, p, plus the tax.  Which expression represents the total cost?

	a. 0.935p
	b. p + 1.065p

	c. 1.065p
	d. p + 6.5p


_____   12. For what value of b is the equation 2b + 3(b-5) = 60 a true statement?

	a. 15
	b. 13

	c. 11
	d. 9


_____   13.  Your school is having a carnival.  Admission costs $3 and each game costs $0.25.  What is the greatest number of games you can play if you have a total of $10?

	a. 34
	b. 28

	c. 15
	d. 3


____
14.
Which inequality has the solution of x > 5?

	a.
	[image: image19.png]-2x > —10




	b.
	[image: image20.png]2x > 6x—20





	c.
	[image: image21.png]X+2>3x-8




	d.
	[image: image22.png]x < 3x-10






____
15.
Which number line graphs the inequality[image: image23.png]=3 x+5>-13?




	a.
	[image: image24.emf]0 2 4 6 8 10 12 14 0 –2 –4 –6 –8 –10 –12 –14

x<6



	b.
	[image: image25.emf]0 2 4 6 8 10 12 14 0 –2 –4 –6 –8 –10 –12 –14

x>6



	c.
	[image: image26.emf]0 2 4 6 8 10 12 14 0 –2 –4 –6 –8 –10 –12 –14

x>-8



	d.
	[image: image27.emf]0 2 4 6 8 10 12 14 0 –2 –4 –6 –8 –10 –12 –14

x<-8




____
  16.   What value of q makes this equation true?         -2(q + 8) = -4
a.   -6



b.    2
c.   -2



d.    6

____
  17.   Which expression is equivalent to -3(-6b + 5)?


a.    -18b – 15


b.    6b + 15


c.    -6b – 15


d.    18b – 15

____  18.
A bakery has a fixed cost of $120 per day plus $2 for each pastry. What is the maximum number of pastries that can be baked each day to keep total costs at or below $500?


a.   760



b.    310


c.   290



d.    190

_____  19.
Akemi went to a stationary shop. He purchased 2 packs of red pens, 4 packs of black pens, and 3 packs of blue pens. The cost of each pack of pens was $2.50. Which expression shows the total amount Akemi spent on the pens?
a.   ($2.50 x 2 x 4 x 3)

b.   $2.50 x (2 + 4 + 3)

c.   ($2.50 x 2) + 3 + 4

d.   ($2.50 + 2 + 4 +3)
____  20. 
Carmine paid an electrician x dollars per hour for a 5-hour job plus $70 for parts. The total charge was $320. Which equation can be used to determine how much the electrician charged per hour?

a.   5x = 320 + 70
 
b.   5x = 320 – 70

c.   (70 + 5)x = 320

d.   (70 – 5)x = 320
Part II. Short response: Show all your work to receive full credit.

21.  Solve and graph the inequality [image: image28.png]dw—-1¢<7.




(Show work)

Graph[image: image29.png]0987 654321001 23435¢678910




22. 
Simplify the expression 6x + 3 + 2(-4x +1).

(Show your work)
Answer: _____________________
23.
Mariah wants to buy a computer that costs a total of $690.  She can make a down payment of $90 and then make 12 equal monthly payments.  Write an equation you can use to find the value of each monthly payment, p.

Equation ___________________________________________

Solve your equation for p.  (Show your work)

24.    The distance around the figure shown is represented by the expression 10m + 8n.


[image: image30]

Write an expression to represent the length of the missing side in simplest form.
(Show your work) 
Expression:  __________________________
25. Patel bought a model rocket kit from a catalog. The price of the kit was $124.95. The state sales tax of 7% was added, and then a $10 charge for shipping was added after the sales tax. What was the total amount Patel paid, including tax and shipping cost? 

Show your work.
Answer $______________

Patel received an allowance of $15 per week. How many weeks will it take him to purchase the kit? 

Show your work.
Answer _______________ weeks

2m + 2n





2m + 2n





5m + n








